JASHEE R OB TERVR S — &

B mm

e AODED
o

15 90 105|120

18 RIEEEM 1 18 90 105120 RIEREM 11

21 90 105/120

24 90 105/120

27 45 60 75 90 105[120

30 39| 45 60 75 90 105120

36| 36| 39| 45 60| 66| 75 90 105[120

39 39| 45 60 75 90 105[120

45 45| 55| 60 75 90 105/120

60 60 75 90 105/120

75 75 90 105120

80 80| 90 105(120

90 90 105(120[135[150(180 210{240|270{300{330(360

100 100[105(120[135[150(180 210(240|270(300(330(360|390
105 105(120[135(150(180 210(240|270(300|330(360|390
120 120/135[150{180|  |210[240(270/300|330(360|390
135 135(150(180 210(240|270(300(330(360|390
150 150|180 210(240|270(300(330(360|390
180 180 210{240|270(300(330(360|390
200 200(210{240(270[300{330[360(390
210 ZIEEEM 210|240(270{300|330|360(390
240 240(270[300(330(360(390
270 270(300/330(360|390
300 300{330|360(390
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REARM (—RTEHM) DEERM LD ETRE

BEHM [srona| X8R E&(m) E&(mm) | #E(mm)
@e (B TEF V0T 3 4 6 105|105
120] 120
135] 135
150] 150
& VDE| 2 3 4 105] 105
120] 120
HE |98 00F 3 4 5 6 7 8 105 150] 180[ 210/ 240] 270[ 300] 330[ 360
120] 150] 180] 210] 240] 270] 300[ 330] 360
135] 150] 180] 210] 240[ 270] 300[ 330] 360
150] 165] 210[ 240] 270[ 300] 360
MRV [TE  VDFE 3 4 30 90| 105
45| 90| 105
HhE |FE  UVODFE 3 4 15  90[ 105
18] 105
Bt [g= 3 4 30 75| 90] 105] 120] 135] 150]
INEM (R |[TF 2/ 3 4 75| 75
90 90
105] 105
120] 120
135] 135
150] 150
BE |[FF 203 4 75| 75
90 90
105/ 105
120] 120
135] 135
150] 150
ERX [§F UvOE|2 3 4 30/ 30] 45| e60] 75/ 90] 105] 120[ 135] 150]
45| 45| 45| 45| 45| 45| 45| 135] 150
60 60/ 75/ 90| 105] 120] 135] 150
K [BRE [§F UV [FEORS 90] 90
105] 105
120] 120
135] 135
150] 150
KelZE[FE UvDE| 2 3 4 90 90
105/ 105
120] 120
135] 135
150] 150
B |§98 0v0EF| 2 3 4 30/ 30] 45| e60] 75/ 90] 105] 120[ 135] 150]
45| 45| 60/ 75| 90| 105] 120] 135] 150
60 60/ 75/ 90| 105] 120] 135] 150

KEBLEVIVERERM (—RREM) DSEMBRIIBELHHTETY .
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RERM (—RRFEM) DEEEM ZLDSE M

e 255281 HIRE: FOKYRAR
P . TiE (mm MiE A¥ E/¥%

AR O e T B |(m3) | Bl | AERE| mEm | AEE|
B4t #* 105 105/ 3,000 0 71,500 2,400( 84,500 2,800|Z
BhAA % 105 105| 4,000 0 78,000 3,500/ 91,000 4100(Z
Bt #* 105 105/ 6,000 0 117,000 7,800 182,000 12,100(Z
BhAf % 120 120| 3,000 0 71,500 3,100/ 84,500 3,700|Z
B+t i3 120 120| 4,000 0 78,000 4,500 91,000 5,300|Z
BhAf % 120 120| 6,000 0 117,000 10,200{ 182,000, 15,800|Z
B+t i3 135 135 3,000 0 84,500 4,700/ 130,000 7,200|Z
BhAA % 135 135 4,000 0 91,000 6,700/ 130,000 9,500|Z
Bt #* 135 135/ 6,000 0 136,500| 15,000 Z
BhAf % 150 150| 3,000 0 97,500 6,600 Z
B+t % 150 150 4,000 0 104,000 9,400 Z
BhAA # 150 150| 6,000 0 146,900 19,900 Z
B+t T& 105 105| 3,000 0 84,500 2,800| A T
BhAA & 105 105/ 4,000 0 91,000 4100|FF I
B+t T& 120 120| 3,000 0 84,500 3,700|EF I
BhAA & 120 120 4,000 0 91,000 5,300\ B II
BhAf MT4E 120 150/ 3,000 0 84,500 4,600 BRI
EhAf Mr%8 120 150 4,000 0 84,500 6,100 BRI
BhAf MT4E 120 150 6,000 0 169,000 18,300 BRI
EhAf Mr%8 120 180 3,000 0 84,500 5,500 ==
BhAf MT4E 120 180 4,000 0 84,500 7,400 BRI
EhAL Mr%8 120 180 6,000 0 169,000 22,000 BRI
BhAf MT4E 120 210| 3,000 0 84,500 6,400 BRI
EhAf Mr¥E 120 210 4,000 0 84,500 8,600 ==
BhAf MT4E 120 210| 6,000 0 169,000 25,600 BRI
EhAf Mr%E 120 240| 3,000 0 91,000 7,900 ==
BhAf MT4E 120 240| 4,000 0 91,000/ 10,500 BRI
EhAf Mr¥E 120 240| 6,000 0 182,000, 31,500 ==
BhAf MT4E 120 270| 3,000 0 104,000 10,200 BRI
EhAf Mr¥E 120 270| 4,000 0 104,000{ 13,500 ==
BhAf MT4E 120 270| 6,000 0 208,000 40,500 BRI
EhAf Mr38 120 300/ 3,000 0 117,000 12,700 BRI
BhAf W48 120 300| 4,000 0 117,000 16,900 BRI
LYo iIEE] 120 300/ 6,000 0 234,000 50,600 B
BhAf W48 120 330 3,000 0 130,000 15,500 BRI
B4 g 120 330 4,000 0 130,000 20,600 B
BhAf BN 30 90| 3,000 0 78,000 640 B I
LYo BN 30 90| 4,000 0 78,000 850 B
BhAf BN 30 105 3,000 0 71,500 680 B
B4 BN 30 105| 4,000 0 71,500 910 B
BhAf RS 45 90| 3,000 0 78,000 960 B I
B4 B 45 90| 4,000 0 78,000 1,270 B
BhAf BN 45 105 3,000 0 71,500 1,020 B
B+t B 45 105 4,000 0 71,500 1,360 Bl
BhAA HhE 15 90| 3,000 0 84,500 350 BI
B+t HhE 15 90| 4,000 0 84,500 460 =]}
BhAA HhE 15 105| 3,000 0 84,500 400 =z
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~Ti& (mm)

18

FES

e/

AN\ K 3 *i
AR BB e T T BT |(n3) | Bl | AERE| mEm | AEE]

BhAA HhE 15 105| 4,000 0 84,500 540 =z
B+t HhE 18 105 3,000 0 84,500 490 =]}
A HhE 18 105 4,000 0 84,500 650 BI
B+t LikEd 30 75| 3,000 0 84,500 580 Z

BhAf LikE 30 75| 4,000 0 84,500 770 z

B+t LikEs 30 90( 3,000 0 78,000 640 Z

BhAf LikE 30 90| 4,000 0 78,000 850 z

B+t LikEs 30 105| 3,000 0 71,500 680 Z

BhAf LikE 30 105/ 4,000 0 71,500 910 z

B+t LikEs 30 120| 3,000 0 71,500 780 Z

BhAA L= 30 120| 4,000 0 71,500 1,030 Z

INEBRE [EER 75 75| 3,000 0 84,500 1,500 ==
INEBHE (R 75 75| 4,000 0 84,500 2,000 BRI
INEBRE [EER 90 90| 3,000 0 78,000 1,900 ==
INEBHE R 90 90| 4,000 0 78,000 2,600 BRI
INERE |REK 105 105 3,000 0 71,500 2,400 BRI
INEHE (R 105 105 4,000 0 71,500 3,200 B
INERE |REK 120 120[ 3,000 0 71,500 3,100 BRI
INEBHE (R 120 120 4,000 0 71,500 4,200 B
INERE |REK 135 135 3,000 0 84,500 4,700 BRI
INERE |BER 135 135 4,000 0 84,500 6,200 B
INERE |REK 150 150 3,000 0 97,500 6,600 BRI
INEBHE (R 150 150 4,000 0 97,500 8,800 ==
NEH [BE 75 75| 3,000 0 91,000 1,600 BRI
INER B E 75 75 4,000 0 91,000 2,100 B
ZNEHE [BE 90 90| 3,000 0 78,000 1,900 BRI
INEBHE [BE 90 90| 4,000 0 78,000 2,600 ==
NEHE [BE 105 105 3,000 0 71,500 2,400 BRI
IZNEBHE [BE 105 105 4,000 0 71,500 3,200 ==
INERE BB 120 120| 3,000 0 71,500 3,100 BRI
INERE |BE 120 120| 4,000 0 71,500 4,200 B
NEHE [BE 135 135 3,000 0 84,500 4,700 BRI
IZNERE |BE 135 135 4,000 0 84,500 6,200 B
INERE |ER 30 45( 3,000 0 78,000 320 B
INERE |ER 30 45 4,000 0 78,000 430 B 1
NI ES 30 60[ 3,000 0 78,000 430 B
AN E S 30 60| 4,000 0 78,000 570 B I
INERE |EKR 30 75| 3,000 0 84,500 580 B
AN E S 30 75| 4,000 0 84,500 770 =]}
INERE |EKR 30 90( 3,000 0 78,000 640 B
INERE |ER 30 90( 4,000 0 78,000 850 B 1
NI ES 30 105| 3,000 0 71,500 680 B
AN E S 30 105| 4,000 0 71,500 910 B I
NI ES 30 120| 3,000 0 71,500 780 B
AN E S 30 120 4,000 0 71,500 1,030 B I
INERE |EKR 45 45( 3,000 0 78,000 480 B
INERE |ER 45 45( 4,000 0 78,000 640 =z
INERE |ER 45 60 3,000 0 78,000 640 B
INERE |ER 45 60 4,000 0 78,000 850 =z
INERE |ER 45 75| 3,000 0 84,500 860 BI
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~Ti& (mm)
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e/

AN\ K 3 *i
AR BB e T T BT |(n3) | Bl | AERE| mEm | AEE]
INERE |ER 45 75| 4,000 0 84,500 1,150 BI
AN E S 45 90| 3,000 0 84,500 1,040 =]}
N IESS 45 90 4,000 0 84,500 1,370 BI
INERE |ER 45 105/ 3,000 0 71,500 1,020 =]}
INERE |ER 45 105| 4,000 0 71,500 1,360 BI
AN E S 45 120 3,000 0 71,500 1,160 BRI
INERE |ER 45 120| 4,000 0 71,500 1,550 Bl
AN E S 60 60| 3,000 0 84,500 1,000 BRI
INERE |ER 60 60 4,000 0 84,500 1,300 B
AN E S 60 75 3,000 0 91,000 1,300 BRI
INERE |ER 60 75| 4,000 0 91,000 1,700 Bl
AN E S 60 90| 3,000 0 91,000 1,500 BRI
INERE |ER 60 90 4,000 0 91,000 2,000 Bl
INERE |ER 60 105/ 3,000 0 84,500 1,600 BRI
INERE |ER 60 105| 4,000 0 84,500 2,200 B
INERE |ER 60 120| 3,000 0 84,500 1,900 =z
INERE |ER 60 120 4,000 0 84,500 2,500 B I
FR#E K5|E 90 90( 3,000 0 71,500 1,800 B
FR#H K5lE 90 90 4,000 0 78,000 2,600 B I
FR#E K5|E 105 105| 3,000 0 71,500 2,400 B
FR#H K5|E 105 105 4,000 0 71,500 3,200 B
FR#E K5|E 120 120| 3,000 0 71,500 3,100 B
FR#H K5|E 120 120 4,000 0 71,500 4,200 B
FR#E K5|E 135 135 4,000 0 84,500 6,200 B
FR#H K5lE 150 150 3,000 0 97,500 6,600 B
FR#E K5|E 150 150| 4,000 0 97,500 8,800 B
PR#E EAX 30 45 3,000 0 78,000 320 B I
FR#E A 30 45( 4,000 0 78,000 430 B
FR#R EAX 30 60| 3,000 0 78,000 430 B
FR#E A 30 60 4,000 0 78,000 570 B
FR#R EAX 30 75| 3,000 0 84,500 580 B
FR#E A 30 75| 4,000 0 84,500 770 B
PR#E EAX 30 90| 3,000 0 78,000 640 B I
FR#E A 30 90 4,000 0 78,000 850 B
PR#E EAX 30 105 3,000 0 71,500 680 B I
FR#E A 30 105| 4,000 0 71,500 910 B
FR#R EAX 30 120| 3,000 0 71,500 780 B
PR#8 Ty 30 120 4,000 0 71,500 1,030 B I
FR#R EAX 45 45| 3,000 0 78,000 480 B
PR#8 Ty 45 45| 4,000 0 78,000 640 B I
FR#R EAX 45 60| 3,000 0 78,000 640 B
PR#8 Ty 45 60| 4,000 0 78,000 850 B I
FR#R EAX 45 75| 3,000 0 84,500 860 B
PR#8 Ty 45 75| 4,000 0 84,500 1,150 B I
FR#R EAX 45 90| 3,000 0 78,000 960 B
PR#8 Ty 45 90| 4,000 0 78,000 1,270 B I
FR#R B 45 105 3,000 0 71,500 1,020 Bl
FR#8 Ty 45 105/ 4,000 0 71,500 1,360 B I
FR#R B 45 120[ 3,000 0 71,500 1,160 Bl
FR#8 Ty 45 120 4,000 0 71,500 1,550 B I
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P . ~ti%& (mm) Mi& A¥ E/%

AR BB e T T BT |(n3) | Bl | AERE| mEm | AEE]
FR#8 Ty 60 60| 3,000 0 84,500 1,000 B I
FR#R A 60 60| 4,000 0 84,500 1,300 Bl
FR#8 Ty 60 75 3,000 0 91,000 1,300 B I
FR#R A 60 75| 4,000 0 91,000 1,700 Bl
FR#8 X 60 90| 3,000 0 91,000 1,500 B I
FR#E iETN 60 90 4,000 0 91,000 2,000 2z
PR#H X 60 105 3,000 0 84,500 1,600 Bl
PR#8 BX 60 105/ 4,000 0 84,500 2,200 BRI
FR#8 X 60 120[ 3,000 0 84,500 1,900 Bl
PR#8 BX 60 120 4,000 0 84,500 2,500 BRI
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